Economics 330:  Money and Banking (Fall 2002)

Solutions to Review Questions for the Last Third of the Class

Note:  These are only suggested solutions and are not substitutes for material covered in lecture or your textbook.

1. An open market sale leads to a smaller quantity of reserves supplied at any given Federal Funds rate.  Hence, the supply curve for reserves shifts to the left.  At the new reserves market equilibrium, the Federal Funds rate is higher.

2. For the person or firm, “currency” assets fall by $100 (i.e. the change is -$100 for this asset), a change that is exactly offset on the asset side of the t-account by an increase in the “securities” or “government bonds” asset entry (i.e. the change is +$100 for this asset).  Nothing happens on the liabilities side.  For the Fed, its “securities” or “bonds” asset entry falls by $100; no other changes occur on the asset side.  On the liabilities side, the Fed’s “currency in circulation” liability falls by $100, keeping the t-account in balance.

Based on the information given, the money multiplier is 2.414.  Since currency in circulation falls by $100, the monetary base (currency in circulation plus reserves) falls by the same amount.  Hence, the money supply falls by 2.414*($100) = $241.40.

3. In the short run, the money supply curve on the liquidity preference graph shifts to the right, lowering the nominal interest rate in the economy.  This stimulates (raises) investment spending in the economy, shifting the aggregate demand curve to the right.  In the short run, both output and the aggregate price level are higher.  The short-run aggregate supply curve then shifts back due to upward pressure on input prices (the economy is beyond its natural (full employment) level of output).  It continues to shift back until it intersects the AD curve at the natural level of output.  In the long run, output is at the same level as we started at and prices are even higher than they were in the short run.  See pages 586-88 for more detail. 

4. Higher input prices raise production costs for firms, causing the SRAS curve to shift to the left.  Prices rise and output falls below its natural, full employment level in the short run.  If the government takes no action, wages and other input prices will fall (since we are below full employment of resources) and the short-run aggregate supply curve will shift to the right.  It will continue to do so until it intersects the AD curve at the natural level of output.  In the long run, there is no change in either output or the price level. 

Instead of waiting for the economy to move back to full employment on its own, a more activist policy would be to move it there using expansionary monetary or fiscal policy.  This would shift the AD curve to the right. 

5. Structural unemployment is unemployment that occurs due to a mismatch between the job requirements of firms and the skills or availability of local workers.  Frictional unemployment is unemployment that occurs due to normal frictions in the searching process of workers and firms when finding a suitable job matchup (for example, when a student leaves university and decides to look for a job, she might be unemployed for a while until she finds the right job).  Seasonal unemployment is unemployment that occurs when the number of jobs has decreased because of the season.  

6. Using the equation of exchange (MV = PY) with constant velocity and real income, a doubling of the money supply should cause the aggregate price level to double.  Hence, nominal income also doubles.

7. Money demand is equal to k*P*Y = 1.35*1.41*500 billion = $951.75 billion.  If the expected return on bonds goes up, the constant of proportionality should fall.  Money demand should then also fall, according to the Cambridge approach.

8. The aggregate demand curve displays the relationship between the overall price level and the level of aggregate output in an economy, assuming both the goods market and the money market are in equilibrium.  It slopes downward since, all else equal, the quantity of output demanded rises as the price level falls.  The short-run aggregate supply curve is the relationship between the quantity of real GDP (aggregate output) supplied and the price level when money wage rate, the prices of other resources, and potential GDP (the natural level of output) remain constant.  It slopes upward since, all else equal, the quantity of output supplied increases when the price level rises. 

9. See page 602-603.  Economic growth shifts the long-run aggregate supply curve to the right.  In the short run, the intersection between AD and short-run AS is then at less then full employment (since full employment output has moved to the right), so wages and other factor prices fall causing the SRAS curve to shift to the right.  It continues to do so until it intersects the AD curve at the new LRAS curve.  The AD curve does not shift at all in this example (if the only change is economic growth).  

10.  See page 601-607; the goals are listed on these pages

